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[1x20]
1.
A 66 years old nulliparous woman presented in the surgical OPD with complaints of bloody discharge from her right nipple. On examination, the nipple was found to be retracted and skin around it had an ‘orange peel appearance’. The most likely diagnosis for this condition is:
a. Intraductal Papilloma



b.
Krukenburg’s tumor
c.
Gynecomastia




d.
Paget’s disease of the breast
2.     A 60 years old diabetic lady complains of intermittent attacks of pain in the thumb, index and middle fingers of her right hand. On examination, there is wasting of thenar eminence, she is unable to hold a paper with thumb and fingers. There is loss of opposition of thumb. Index and middle fingers lag behind while making a fist. What could be the cause of such a condition?
a.
Compression of ulnar nerve in the forearm

b.
Compression of median nerve in the arm
c.
Compression of ulnar nerve at the carpal tunnel

d.
Compression of median nerve at carpal tunnel
3.    A 22-year-old female kabaddi player suffered a wrist injury while she tried to touch the central line on her outstretched hand. The Orthopedician notices mild swelling at the anatomical snuff box with difficulty in ulnar deviation of hand. Which carpal bone is likely to be injured.?

a.
Pisiform




b.
Trapezoid

c.
Trapezium




d.
Scaphoid 

4.
A woman comes to OPD with the complaint of difficulty to spread the fingers of her left hand. Which nerve is likely to be involved:

a.
Ulnar





b.
Musculocutaneous

c.
Radial





d.
Median 

5.
A patient is stabbed in the neck. You suspect damage to the accessory nerve in the posterior triangle. You would test nerve function by asking the patient to

a.
Extend his neck against resistance.
 
b.
Extend his neck without resistance.

c.
Lift his shoulders against resistance. 

d.
Lift his shoulders without resistance.

6.
Examination of a patient indicates that they have a medially directed strabismus (squint).

This could be due to damage to the:

a.
Oculomotor nerve.



b.
Trochlear nerve.

c.
Ophthalmic trigeminal nerve.


d.
Abducens nerve.

7.
The seventh cranial nerve supplies:

a.
taste buds on the posterior third of the tongue
b.
muscles of the soft palate.


c.
the parotid salivary gland


d.
muscles of the lower lip.

8.
A 40 year old patient underwent ear surgery. Post operatively he started complaining of hyperacusis. This condition arose because of involvement of which muscle
a.
Tensor Tympani



b.
Tensor veli palatini
c.
Stapedius




d.
Myelohoid
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9.
One of the following is a paired dural venous sinus.

a.
Superior sagittal sinus



b.
Sigmoid sinus

c.
Inferior sagittal sinus



d.
Confluence of sinus

10.
Taste sensations from the tongue are carried by the following nerves:

a.
VII, VIII, IX




b.
V, VI & XI

c.
VII, IX & X




d.
XI, X & XII

11.
A 65 year old man is admitted to the emergency department after an episode of a transient ischemic attack. Radiographic examination reveals an aneurysm in the region between the posterior cerebral artery and superior cerebellar artery. Which of the following nerve will most likely be compressed from the aneurysm?
a.
Trochlear




b.
Abducens
c.
Oculomotor




d.
Vagus
12.
A 41-year-old patient presents with a complaint of chronic nasal bleed. To control the severity of the nasal bleeding his physician decides to ligate the sphenoplatine artery. From which of the following arteries does the sphenopalatine artery arise:

a.
External carotid artery



b.
Facial artery

c.
Maxillary artery




d.
Ophthalmic artery

13. A 20 year old man is admitted to the emergency with a stab wound in the superior region of his neck. Physical examination reveals that the patient has lost sensation from the skin over the angle of the jaw. Which of the following nerve is most likely injured?

a.
Transverse cervical



b.
Great auricular

c.
Greater occipital



d.
Lesser occipital
14.
A 29-year-old male visited ENT OPD with the chief complaints of facial asymmetry, inability to close his left eye, and inability to chew food properly from his left side. He had a history of fever 10 days back. On examination, the left side of the face is motionless, wrinkles are absent. There is continuous dribbling of saliva from the left angle of the mouth. On the basis of your knowledge of anatomy,

what can be the diagnosis?

a.
Injury to the facial nerve at Stylomastoid foramen
b.
Injury at facial colliculus

c.
Supra-nuclear lesion of the facial nerve


d.
Injury to Pons 

15.
A patient has been severely injured in the back of the head during a mugging attempt and imaging studies reveal possible fracture of the skull along with the C1 (atlas) vertebra. The patient is also bleeding from the vertebral artery in this location, and the attending surgeon will attempt to stop the bleeding by access through the suboccipital triangle. Which of the following muscles extends from the transverse process of C1 vertebra to the occipital bone and forms the lateral boundary of the suboccipital triangle?

a.
Obliquus capitis inferior



b.
Obliquus capitis superior

c.
Rectus capitis posterior major


d.
Rectus capitis posterior minor 
16.
A 50-year-old man came to the casualty, complaining that while eating fish something got struct in his throat and that it was causing pain and discomfort. On physical examination of the throat, it was found that the fish bone was impacted in the piriform fossa. While removing the fishbone which nerve is likely to be injured.

a.
External laryngeal nerve


b.
Internal laryngeal nerve

c.
Ansa cervicalis




d.
Glossopharyngeal nerve 
17. 
A 5 days old infant is diagnosed with a non-communicating hydrocephalus. Which of the following is most likely to lead to such a condition? 

a.
Obstruction in the circulation of the cerebrospinal fluid

b.
Excess production of cerebrospinal fluid

c.
Increased size of the hand

d.
Disturbances in the resorption of cerebrospinal fluid
18. A new born baby with a tuft of hair in lower back region was examined by pediatrician. What is the possible condition suspected?

a.
Rachischisis




b.
Spina bifida occulta

c.
Sacrococcygeal teratoma


d.
Caudal dysgenesis 
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19.
A 40-year-old patient came with headache, fever and stiffness in neck and was diagnosed as a case of Meningitis. The physician wanted to do the biochemical analysis of Cerebrospinal fluid (CSF). Which One of the following vertebral levels would be the choice for introducing the needle for withdrawal of CSF.

a.
T-12 and L-1




b.
L-1 and L-2

c.
L-2 and L-3




d.
L-3 and L-4 

20.
A 6-year-old girl was having high-grade fever for 5 days. One evening she complained of weakness in her left leg. On examination there was flaccid paralysis of lower limb. What could be a provisional diagnosis?

a.
Poliomyelitis




b.
Cerebral palsy

c.
Cerebellar palsy




d.
Lateral medullary syndrome 
Q.2 .
Describe the anatomy of the temporomandibular joint under following headings: -    
a. 
Type of joint, articular surfaces and ligaments


b.
Movements and muscles producing them
c.
Clinical anatomy
[4x3]
Q. 3.
Write short notes on:                                                                      


 [5x4]

a.
Illustrate microanatomy of cornea
b.
Discuss briefly the various types of muscles with example of each
c.
Describe the boundaries of the Quadrangular space in scapular region along with the structures passing through it and its related applied
d.
Describe microanatomy of elastic cartilage
Q.4. 
Explain:                                     
                                                     

  [3x5]   

a.
Clinical importance of piriform fossa
b. 
Winging of scapula
c.
Argyll Roberston pupil
d.
Lateral medullary syndrome
e.
Anatomical basis of ligation of thyroid arteries during thyroid surgeries
Q.5.  
Write short notes on:                 
                       




[6x3]   

a.
Discuss movements and muscles responsible for them at wrist joint
b.
Transverse section through medulla oblongata at the level of pyramidal decussation 
c.
Discuss embryological development of tongue
Q.6.
Write short notes on: 








[5x3]   
a.
Describe the blood supply of mammary gland
b.
Discuss in brief the blood supply of spinal cord
c.
Role of biologic tissues and cadavers in learning Anatomy
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[1x20]

1.
A 49 year old man with a history of smoking for 25 years, presents with chest pain radiating to his left arm and jaw, sweating and nausea. His blood pressure is low and investigations reveal infarction of left pulmonary and parts of sternocostal and diaphragmatic surfaces of the heart and damage to anterior aspect of the interventricular septum. Which artery is most likely occluded in this case?
a.
Left coronary artery



b.
Left anterior descending artery only
c.    Circulmflex artery only


d.
Right coronary artery
2. A 9-year-old boy was admitted to the emergency department complaining of nausea, vomiting, fever, loss of appetite. On examination, he was found to have tenderness and pain on the right lower quadrant. Based on sign and symptoms, the diagnosis of acute appendicitis was made. During an appendectomy performed at Mc Burney's point, which of the following structures is most likely to be injured?

a.
Deep circumflex femoral artery                  b.

Inferior epigastric artery    

c.
Illiohypogastric nerve                                 d.

Genitofemoral nerve

3.
A 39-year-old man is unable to expel the last drops of urine from the urethra at the end of mictuirition because of paralysis of the external urethral sphincter and Bulbospongiosus muscles. The condition may occur as a result of injury to which of the following nervous structure.

  
a.
Pelvic plexus       

                    
b.
Prostatic plexus

c.
Pedundal nerve                                   

d.
Pelvic splanchnic nerve

4.
A construction worker is hit on the leg with a concrete block and is subsequently unable to plantar flex and invert his foot. Which of the following muscles is most likely damaged?

   
a.
Extensor digitorum longus                  
b.
Tibialis anterior

   
c.
Tibialis posterior           

            d.
Peroneus longus

5.
A 72-year-old woman complains of a cramp-like pain in her thigh and leg. She was diagnosed as having a severe intermittent claudication. Surgery was performed in the adductor canal to relieve her symptoms. Which of the following structures will most likely be unaffected?

   
a.
Femoral artery                  
               
b.
Femoral vein


c.
Great saphenous vein                          
d.
Saphenous nerve
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6.
Following detailed clinical examination and investigations, an infant is found to have a developmental malformation of the fascia transversalis. Which of the following structures on the anterior abdominal wall would likely to be defective?

a.
Inguinal ligament



b.
Superficial inguinal ring

c.
Lacunar ligament



d.
Deep inguinal ring

7.
A 33 year male patient suffering from tubercular pleural effusion came to hospital for pleural tap. The physician will remove the fluid by putting needle into

a.
Upper part of intercostal space

b.
Lower part of intercostal space

c.
Middle part of intercostal space

d.
In between costal cartilages

8.
A 57 year male patient come with complaint of cardiac problem, the physician will keep the chest piece of stethoscope at

a.
15 cm from midline in 6th intercostal space

b.
5 cm from midline in 5th intercostal space

c.
9 cm from midline in 5th intercostal space

d.
10 cm from midline in 10th intercostal space
9.
A 32-year-old male was brought to the hospital with a deep cut on the dorsum of his ankle. As you inspect the wound and test for functional and sensory deficits, you find that no tendons have been cut, but the accompanying nerve to dorsalispedis artery has been cut. You would expect to find:

a.
Club foot 




b.
Foot drop

c.
Inability to extend the big toe




d.
Sensory loss between the first and second toes
10. A 30 year female delivered a baby of 32 wks gestational age. The loops of intestine were outside the abdominal cavity. On examination it was seen that contents were covered only by amnion. What is the diagnosis? 

a.
Exomphalos




b.
Physiological hernia

c.
Acquired umbilical hernia


d.
Umbilical diverticula



11. Ultrasound of a female patient reveals two gestational sacs (twin pregnancy). Choose the correct statement:

a.
Monozygotic twins can havecommon chorionic and amniotic cavity

b.
Monozygotic twins do not have same blood group

c.
Dizygotic twins are genetically identical





d.
Monozygotic twins do not have same sex




12. A 35 year old pregnant female visits antenatal clinic. The doctor recommends blood test for ruling out congenital diseases in unborn baby. If Alfa Fetoproteins level is low in maternal blood then unborn baby has:

a.
Neural tube defect


b.
Down’s syndrome

c.
Anencephaly



d.
Spina bifida

13. A child accidently aspirates a small coin while sitting, which enters the tracheobronchial tree. If the diameter of the coin is smaller than the secondary bronchus, then the most likely place the coin is going to get stuck is: 

a.
Posterior basal segment of right lower lobe

b.
Superior segment of left lower lobe

c.
Inferior (lingular) segment of left upper lobe

d.
Superior segment of right lower lobe
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14. A 17 year old boy was involved in a gang fight. During the argument he was injured with knife. On examination the emergency he was found to have stab wound in the left flank involving left kidney. A urine specimen revealed frank blood. Which other organ is least likely to be damaged in this patient?

a.
Stomach   




b.
Spleen

c.
Left colic flexure  



d.
Duodenum   

15. A 19-year-old football player was hit on the lateral side of his knee just as he put that foot on the ground. Unable to walk without assistance, he is taken to the hospital. An MRI examination reveals a torn medial collateral ligament. Which structure would most likely also be injured due to its attachment to this ligament?

a.
Medial meniscus



b.
Anterior cruciate ligament

b.
Lateral meniscus



d.
Posterior cruciate ligament

16. A 49-year-old man underwent a coronary bypass graft procedure using the great (long) saphenous vein. Postoperatively the patient complains of pain and general lack of normal sensation on the medial surface of the leg and foot on the limb from which the graft was harvested. Which nerve was most likely injured during surgery?

a.
Common peroneal nerve


b.
Superficial peroneal nerve

c.
Sural nerve




d.
Saphenous nerve

17. A medical Student while observing a slide of gastrointestinal tract in histology lab notices the following features: Epithelium with goblet cells, Intestinal glands, Plica circularis and glands in the submucosa. Which region of the gastrointestinal tract was the student observing?

a.
Duodenum




b.
Jejunum

c.
Ileum





d.
Colon      
18. A patient after fracture of upper end of right fibula complained of loss of sensation on lateral aspect of lower part of leg and dorsum of foot. Patient was unable to dorsiflex and evert the right foot. Name the nerve injured: 

a.
Femoral nerve   



b.
Common peroneal nerve                                   

c.
Tibial nerve   




d.
Obturator nerve                       
19. A patient c/o deep aching pain in the leg which becomes severe in dorsiflexion of foot and with exercise but subsides with rest. What can be the likely cause?
a.
Varicose veins




b.
osteomyelities

c.
Anterior compartment syndrome

d.
Deep vein thrombosis      

20. A 50 yrs old man suffered heart attack. His doctor suggested him for bypass surgery. which vein is suitable for graft in this surgery

a.
Femoral vein




b.
Great saphenous vein

c.
short saphenous vein



d.
perforator vein      

Q.2.
Describe ‘Uterus’ under the following headings:



[4+3+3+2]


a.
Gross features
b.
Supports of uterus

c.
Blood supply and lymphatic drainage

d.
Applied anatomy

Q.3.
Write short notes on:-







[5x4]


a.
Describe the boundaries and contents of Adductor canal



b.
Enumerate the tributaries and discuss briefly the embryological development of Coronary sinus

c.
Explain briefly the factors responsible for the maintenance of Medial longitudinal arch of foot
d.
Discuss the formation of tertiary chorionic villi 
Q.4.
Explain the anatomical/embryological basis of:-




[3x5]


a.
Patent Ductus arteriosus

b.
Femoral hernia is more common in females

c.
Left sided Varicocoele is more common in males



 
d.
Foreign body impaction is more common in the right lung

e.
Pain of appendicitis is referred to the umbilical region
Q.5.
Discuss briefly the applied aspect of:-





[6x3]


a.
Disruption of the Abductor mechanism at the hip joint 


b.
Autosomal recessive disorders

c.
Diaphragmatic hernia
Q.6.
a. Draw well labelled diagram of:






[5x2]



i.
Microanatomy of Liver
ii.
Anterior relations of right kidney
b.
Discuss briefly about precautions to be taken by students during cadaveric dissection.












[5]
-------------------
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[1x20]

1.
An intern posted in the family planning unit is asked to assist in a sterilization procedure for a 40-year old man. Which portion of the semen conveying duct is to be excised and sealed bilaterally?

a.
Epididymis 



b.
Seminal gland duct 

c.
Vas deferens 



d.
Wolffian duct

2.
A direct stimulatory effect of plasma electrolytes on the aldosterone secretion from adrenal cortex was being studied. A rise in plasma levels of which of the following electrolytes will do so?

a.
Calcium 



b.
Potassium 

c.
Chloride 



d.
Sodium

3.
A child looking at a distant object at 12 feet and shifts his gaze to an object placed at 2.5 feet. what changes are likely to occur   to ciliary muscles, shape of the lens, visual axes, pupillary size? 

	
	Change to ciliary muscles
	Change to shape of lens
	Change in Visual Axes 
	Change in pupil size

	A
	Contract
	Bulges
	Converge 
	constrict

	B
	Contract 
	Flattens
	Converge
	Dilate

	C
	Contract 
	No Change
	Converge
	Dilate 

	D
	Relax 
	Bulges
	Converge
	Constrict


4.
Tapping the patellar tendon in a patient elicited the knee jerk, which is a stretch reflex. Compared to a monosynaptic reflex arc, a polysynaptic reflex arc includes which of the following? 

a.
Afferent neuron 


b.
Efferent neuron

c.
Interneuron 



d.
A white matter synapse

5.
During a clinical examination a medical student is asked to test for sensation of taste. Which three cranial nerves are responsible for transmitting impulses for the sense of taste to the brainstem? 

a.
Accessory, olfactory, glossopharyngeal      b.
Facial, glossopharyngeal, vagus 

c.
Glossopharyngeal, hypoglossal, accessory d.

Hypoglossal, facial, olfactory 

6. A 60-year old man develops a thrombosis of a cerebral blood vessel following which he develops slow speech and difficulty in generating verbal or written words, and he is limited to two or three words to express the whole range of meaning and emotion. What is the likely area of the lesion?

a.
Wernicke area



b.
Broca area 

c.
Angular Gyrus



d.
Arcuate fasciculus 

7.
A 19 year-old girl complained of ear pain due to an inflammation and build-up of fluid in the middle ear and was diagnosed with a middle ear infection. The middle ear contains 

a.
The membranous labyrinth containing endolymph. 

b.
The bony labyrinth containing perilymph fluid.

c.
cochlear hair cells that mediate hearing. 

d.
The auditory ossicles and the tensor tympani and stapedius muscles.
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8.
During a lecture session of medical students, the teacher explains to them synaptic plasticity. The plastic changes include all EXCEPT 

a.
Habituation



b.
Long term Potentiation 

c.
Long Term Depression 

d.
Pre-tetanic potentiation 

9. A 45 year old presents with signs and symptoms of cerebellar lesions. Of the following which is NOT a feature of Cerebellar disorder?

a.
Dysdiadochokinesia


b.
Ataxia

c.
Intention tremors


d.
Hypertonia

10. During a meeting the Executive picks up a cup of tea and sips the tea. Match the Control of voluntary movement with the areas :

	Area 
	Function 

	1.   cortical association areas 
	a.  Motor commands

	2. The cortex, basal ganglia, and cerebellum work 
	b.  Adjust and smoothen movement

	3. corticospinal tracts and corticobulbar tracts relay to motor neurons 
	c.   Commands originate

	4. cerebellum feedback
	d.   plan movements.


a.
1-a,2-b,3-c,4-d



b.
1-c,2-d,3-a,4-b

c.
1-a,2-c,3-b,4-d



d.
1-d,2-b,3-c,4-a

11. A researcher working in the area of body is interested in measurement of the body fluid volumes for which different indicators are to be used. Match the volume to be measured to the indicator to be used :

	Volume 
	Indicators 

	1.    Total Body water 
	a.     Radioactive chromium

	2.    Extra cellular fluid 
	b.     Deuterium

	3.    Plasma volume 
	c.     Radioactive sodium

	4.    Blood volume 
	d.     Evans blue


a.
1-b,2-c,3-d,4-a



b.
1-a,2-c,3-d,4-b

c.
1-b,2-d,3-c,4-a



d.
1-a,2-b,3-c,4-d

12. A research student is presented with two of body fluid samples marked A & B. He measures the electrolytes in both the samples and finds that Sample B has small quantities of Sodium, chloride ions and no calcium ions. However, it has large amounts of potassium and phosphate as compared to Sample A. Sample B is most likely to be:

a.
Extracellular Fluid


b.
Intra cellular fluid 

c.
Plasma 



d.
Interstitial fluid 
13.  A 25 year old woman is admitted in labour unit with early labour pain. The cramping pain in early  labour is caused mainly by:


a.
Compression of blood vessels by cervical stretching


b.
Compression of blood vessels by perineal stretching


c.
Stretching or tearing of structures in vaginal canal 


d.
Hypoxia of the uterine muscle resulting from compression of the blood vessels in the uterus
14. A mother breast feeds her infant. Suckling reflex produced when she feeds her infant:

a.
Has afferent hormonal and efferent neuronal components 

b.
Has afferent neuronal and efferent hormonal components

c.
Stimulates the secretion of gonadotropins

d.
Reduces prolactin and oxytocin secretion 

15. In a patient of hyperaldosteronism when the ECF expansion passes a certain point, Na+ excretion is usually increased in spite of the continued action of mineralocorticoids on the renal tubules and no edema is produced. This phenomenon is probably due to 

a.
Endothelin



b.
Nitric oxide

c.
Atrial natriuretic peptide 

d.
Renin 
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16. A young man touches the dead body of his friend and is shocked to find that the body is stiff and rigid. This state is called ‘rigor mortis’.  All are true about rigor mortis EXCEPT 

a.
Muscle fibers are completely depleted of ATP and phosphoryl creatine.

b.
Almost all of the myosin heads attach to actin but in an abnormal, fixed way.

c.
The muscles effectively are locked into place 

d.
After 5 hours, proteolytic enzymes released from lysosomes break down actin and myosin

17. A PhD scholar is introduced to the patch clamp technique in a neurophysiology laboratory.  She is trained to monitor membrane potential and channel function. She records the ionic fluxes during an action potential. Which of the following ionic changes is correctly matched with a component of the action potential?

a.
Opening of voltage-gated K+ channels: After-hyperpolarization

b.
A decrease in extracellular Ca2+: Repolarization

c.
Opening of voltage-gated Na+ channels: Depolarization 

d.
Rapid closure of voltage-gated Na+ channels: Resting membrane potential 

18. A  18 year old individual presents  with male characteristics; male genitalia & mental retardation. On further follow up he is found to be having   abnormal seminiferous tubules  His chromosomal pattern will be 

a.
XO



b.
YO


c.
XXX



d.
XXY

19. On examination of a one  day-old infant born at term, the paediatrician hears the murmur of a patent ductus arteriosus.  After what timeframe   is the ductus arteriosus expected to be functionally closed? 

a.
1–5 minutes

 
b.
1–5 hours 

c.
 1–8days


d.
1–8 weeks

20. A 17-year-old boy with a history of type 1 diabetes mellitus is admitted to the hospital with diarrhoea for the past 15 hours. His respiratory rate is 30/min and blood pressure is 90/60 mm Hg, serum glucose concentration is 350 mg/ dL and arterial pH is 7.20. Which of the following is the most likely additional finding in this patient? 

a. 
Decreased serum osmolality 

b.
Increased arterial PCO2 

c.
Increased renal net acid secretion
d.
 Decreased adrenal aldosterone

M.B.B.S. 1st Prof.
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Q.2.
Discuss the sequence of events of transmission across neuromuscular junction. Write a note on myasthenia gravis and discuss the physiological and pharmacological basis of its treatment.









[7+5]

Q.3.
Write short notes on:-







[5x4]


a.
What is positive feedback regulation? Explain its role in homeostasis with suitable example.

b.
Enumerate the types of plasma membrane proteins. Explain their role.

c.
Enumerate the properties of chemical synapse and explain any two of them.

d.
Explain the feedback regulation of growth hormone. Add a note on pituitary dwarfism.
Q.4.
Explain: -








[3x5]


a.
Why polyphagia and polyuria are observed in a patient of diabetes mellitus?

b.
Why stepping on a pointed object results in movement of limb away from the object?

c.
Why lesion in occipital lobe generally spares the central vision?

d.
Why prolonged glucocorticoids treatment should not be abruptly stopped?

e.
Why rigidity is observed Parkinson’s disease?
Q.5.
Short notes on(applied aspect):-





[6x3]


a.
Explain the role of muscle spindle in maintenance of muscle tone.
b.
What is Grave’s disease? Enumerate its features and explain the physiological basis of cardiovascular effects observed.
c.
Explain the effects of testosterone in the males and effect of testosterone lack during fetal development.
Q.6.
Short notes:-








[5x3]


a.
Explain hormonal control of ovarian function in adult females.

b.
Explain the phenomenon of accommodation in vision and effect of old age on it
c.
Mention the professional qualities of a physician
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[1x20]

1.
A young adult diagnosed with a space occupying lesion in the brain (a tumour) . He was brought to emergency in an unconscious state and had signs of raised intracranial tension. He is expected to have all the findings EXCEPT 

a.
Tachycardia



b.
Hypertension

c.
Bradycardia



d.
Irregular breathing 

2.
A 60 year old male has blood pressure reading of 160/100 mm of Hg..His Mean arterial blood pressure is approximately in mm of Hg

a.
60




b.
120 

c.
90




d.
100

3.
A healthy person doing moderate isotonic exercise has a high ejection fraction. Which of the following explains this change?  

a.
Fick’s principle 


b.
Autoregulation  

c.
Frank-Starling Law 


d.
Cushing’s reflex

4
A 65 year old man is suffering from hypertension and atherosclerosis. Due to atherosclerosis his coronary vessel diameter reduced to 50%. Calculate the change of resistance in a vessel the coronary vessel:

a.
16 times 



b.
8 times 

c.
4 times




d.
2 times

5.
For any given molecular radius of a substance,in the glomerulus 

a.
cationic molecules are less readily filtered than anionic molecules.

b.
cationic molecules are as readily filtered as anionic molecules.

c.
cationic molecules are more readily filtered than anionic molecules

d.
presence of cationic or anionic charge on molecules does not affect their  filtration

6.
Any substance that is freely filtered in the kidney and whose clearance is less than Inulin, it implies 

a.
There is net reabsorption of the substance in the tubules

b.
There is net secretion of substance in the tubules

c.
The substance is neither secreted nor reabsorbed in the tubules

d.
The substance get bound to the proteins in the tubules
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7.
A 60-year-old female of chronic kidney disease is expected to have all of these features except 

a.
Anemia



b.
Hypoparathyroidism

c.
Anorexia



d.
Mental deterioration

8.
Ventilation perfusion ratio varies in different regions of lungs due to effect of gravity. The part of lung which adds towards physiological dead space in relation to ventilation perfusion ratio

a.
Upper part of lung


b.
Lower part of lung

c.
Middle part of lung


d.
Uniform through out the lung

9.
In reference to pressure volume changes in lungs during various phases of respiration, which of the following is true during inspiration? 

a.
Intrapleural pressure is positive 



b.
The volume in the lungs is less than the functional residual capacity (FRC) 

c.
Alveolar pressure equals atmospheric pressure 

d.
Intrapleural pressure is more negative than it is during expiration

10.
According to Haldane, oxygenation of Hb produces following effect in the respiratory dynamics.  

a.
shifts the CO2 dissociation curve to the right and facilitates unloading of CO2

b.
shifts the CO2 dissociation curve to the left and facilitates unloading of CO2

c.
increases the affinity of CO2 for Hb

d.
Has no affect on the affinity of Hb for CO2

11.
After injury to a blood vessel,which of the following is not required for hemostasis?

a.
Collagen



b.
Nitric oxide

c.
Platelets   



d.
5- Hydroxytryptamine
12.
In solid organ transplants, which antigens must be matched optimally between donors and recipients?

a.
Class I and Class II HLA antigens and ABO antigens                  
b.
Class I HLA antigens only

c.
Class II HLA antigens only                          
d.
Class I and Class II HLA antigens only

13
A premature baby after discharge from the hospital was advised for a regular follow up with an ophthalmologist. Over a period of time the ophthalamologist diagnosed that the child has developed Retrolental Fibroplasia. The most probable cause of this condition could be

a.
Oxygen therapy given at the time of birth

b.
Hypoxic damage to the lens which may have occurred at the time of birth

c.
Premature babies usually develop this condition because the retina is not fully developed at birth and gets damaged by light

d.
This could be due to some underlying genetic defect

14
Damage to the sensory fibres of the urinary bladder result in

a.
Automatic bladder


b. Periodic but unannounced bladder emptying

c.
Neurogenic bladder


d.  Overflow incontinence 

15.
A young vegetarian woman with heavy bleeding during menstrual cycles has started complaining of lethargy,tiredness and loss of energy. Her investigations reveal a decrease  in hemoglobin levels and the peripheral smear reveals a typical ‘dimorphic’ picture with both micro and macrocytes in red blood cell population. In most likely hood ,she is suffering from

a.
Iron deficiency anemia

b.
Vitamin B12 deficiency anemia

c.
Thalassaemia



d.
Deficiency of both iron and Vitamin B12 
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16.
An O Rh negative woman  met with an accident and hade to be transfused with O Rh positive blood as O Rh negative blood was not available. Which of the statements is FALSE

a.
She  will not develop severe mismatch blood transfusion reaction this time 

b.
She can  develop mismatch blood transfusion if  later in her life she is again transfused with O Rh positive blood  

c.
If she gets pregnant with Rh  Positive child , the child can develop erythroblastosis fetalis

d.
Outcome of her pregnancy will not be affected by the Rh status of the child 

17.
The best test/tests  to assess the function of the platelets is 

a.
Clotting time



b.
Bleeding time

c.
Clot retraction time


d.
Both bleeding and clotting time 

18.
A patient with iron deficiency anemia is prescribed oral iron therapy. Oral iron therapy to correct iron deficiency and replenish iron stores in the body should be given minimum for 

a.
6 months



b.
12 months 

c.
18 months



d.
24 months 

19.
An olympic athlete participating in 100 metres sprint mainly utilizes energy provided by the

a.
The Phosphagen energy system 
b.
Aerobic energy system

c.
Glycogen-lactic acid system

d.
Preformed ATP stored in the cell

20.
Carbon monoxide poisoning is a common occurrence in winters in residents at high hills using coal furnaces for heating their rooms. Carbon Monoxide transfer across the respiratory membrane follows


a.
Perfusion limited gas transfer

b.
Diffusion limited gas transfer

c.
Does not follow any of the above
d.
Both perfusion and diffusion limited

M.B.B.S. 1st Prof.
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Q.2.
Describe in detail the neural control of respiration. Enumerate respiratory reflexes. Add a note on Ondine’s curse.








[8+2+2]

Q.3.
Write short notes on:-







[5x4]


a.
GFR

b.
Impulse conduction pathway of heart

c.
Fat digestion

d.
Erythropoiesis
Q.4.
Explain why:-








[3x5]


a.
There is tachycardia on standing up from supine position

b.
Second baby in Rh negative mother may have erythroblastosis fetalis

c.
Sigmoid shape of oxygen dissociation curve in beneficial
d.
Cardiac muscle cannot be tetanized
e.
Tip of renal medulla has high osmolality
Q.5.
Short notes on(applied aspect):-






[6x3]

a.
Compensated stage of hypovolemic shock

b.
Pathophysiology of peptic ulcer

c.
Prothrombin time
Q.6.
Short notes on:-








[5x3]


a.
Acclimatization in high altitude
b.
Micturition reflex
c.
Doctor patient relationship
-------------------
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Q.1
MCQs (Attempt on OMR sheet)






[1x20]

An 8 year old child experiences episodes of hypoglycaemia after eating fruits. Biochemical testing showed low activity of aldolase B in his liver cells.

1.
What is your most probable diagnosis
a.
Essential frutosuria


b.
Hereditary fructose intolerance
c.
Galactosaemia



d.
Type 1 diabetes mellitus
2.
Major complication of the above condition is
a.
Liver damage



b.
Renal failure
c.
Retinopathy



d.
Cataract
A 3 month old female infant suffers from bouts of vomiting and failure to gain weight. Plasma concentration of glutamine and ammonia were markedly elevated, but low concentration of citrulline was reported.

3.
The infant suffers from
a.
Parkinson’s disease


b.
Acquired hyperammonaemia
c.
Maple syrup urine disease

d.
Hereditary hyperammonaemia
4.
The deficient enzyme in this infant is
a.
Glutamate dehydrogenase

b.
Ornithine transcarbamoylase
c.
Glutamine synthetase


d.
Glutaminase
5.
A 14 year old child with type 1 diabetes suffers burns during festival. His blood glucose should be carefully monitored because his daily insulin dose is likely to 
a.
Increase



b.
Decrease
c.
No change




d.
May increase or decrease depending on body weight
6.
Reason for change in insulin dose in the above patient is:
a.
Insulin is not only a metabolic hormone, it also plays role in blood clotting

b.
Stress induce insulin release from the pancreas
c.
Stress hormones antagonize insulin
d.
Psychological stress causes hypoglycaemia
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A full term infant born to a normal and healthy parents was observed to have blue eyes and almost hair. Later he was found to be highly sensitive to damage from bright light

7.
Name the clinical condition:
a.
Night blindness


b.
Albinism
c.
Cystinosis



d.
Cystinuria
8.
The defective enzyme in the above condition is:
a.
Tyrosine hydroxylase


b.
Tyrosine transaminase
c.
Tyrosinase



d.
Phenylalanine hydroxylase
9.
Which of the following molecules is amphoteric?
a.
Phospholipids



b.
Triacylglycerols




c.
Cholesterol esters


d.
Alanine
10.
Given below are some hormonal disorders and their causes. Identify the mismatch.
a.
Myxodema


Decreased secretion of thyroid hormones

b.
Acromegaly


Increased secretion of growth hormones

c.
Cushing syndrome

Decreased secretion of cortisol
d.
Diabetes insipidus

Decreased secretion of antidiuretic hormones

11.
Given below are hormonal mechanisms for metabolic regulation. Identify the INCORRECT statement.
a.
Glucocorticoids are released in chronic stress

b.
Insulin is a satiety hormone
c.
Catecholamines mediate the flight-or-fight response
d.
Parathormone is involved in regulating glucose homeostasis 
12.
Blood reports of some persons are given below. Identify the report suggestive of diabetes mellitus.
a.
Fasting plasma glucose 12 mg/dl
b.
Random plasma glucose 180 mg/dl
c.
HbA1c 6.8%



d.
Prothrombin time, 11 seconds
13.
Which of the following compound(s) is NOT derived from cholesterol
a.
Vitamin D



b.
Cortisol
c.
Bile acids



d.
Riboflavin
14.
Risk of myocardial infarction is greatly enhanced in the following disorder
a.
Familial hypercholeterolaemia
b.
Tangier disease
c.
Classical galactosaemia

d.
Maple syrup urine disease
15.
Identify the laboratory report of the patient having obstructive jaundice
a.
Urinary excretion of urobilinogen, raised; Serum alkaline phosphatase, decreased

b.
Urinary excretion of urobilinogen, decreased; Serum alkaline phosphatase, increased
c.
Urinary excretion of urobilinogen, raised; Serum alanine transaminase, decreased

d.
Urinary excretion of urobilinogen, normal; Serum aspartate transaminase, decreased

16.
Given below are blood reports of some patients admitted in hospital emergency. Identify the one having maximum risk of myocardial infarction 
a.
Total cholesterol=150,  HDL=25
b.
Total cholesterol=155,  HDL=30
c.
Total cholesterol=160,  HDL=35
d.
Total cholesterol=165,  HDL=40
17.
Given below are some enzymes used for clinical diagnosis. Identify the mismatch.
a.
Gamma glutamyl transpeptidase
Hepatitis, cirrhosis

b.
Alkaline phosphatase


Bone disease
c.
Acid phosphatase


Bone tumors

d.
Aspartate transaminase

Liver diseases
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18.
The following enzymes are elevated in serum of a patient who has suffered a heart attack.
a.
Glutamate decarboxylase and glutamate dehydrogenase

b.
Lactate dehydrogenase and creatine kinase
c.
Pyruvate dehydrogenase and glutaminase

d.
Fructokinase and aldolase
19.
A 46 year old alcoholic male was admitted to hospital emergency after he suffered from abdominal pain and blurring of vision. Six hours ago he had consumed a large quantity of a liquid thinking it was an alcoholic drink. Evidently he had mistakenly consumed a liquid thinking of it as the “real-stuff”. He was treated with alcohol-drip and he showed marked improvement. The patient suffered from-
a.
Methanol poisoning


b.
Cyanide poisoning
c.
Carbon monoxide poisoning

d.
Pentacholophenol poisoning
20.
All of the following are exclusive duties of doctor’s in general EXCEPT:
a.
Displaying of registration number

b.
Maintaining of Medical records
c.
Exposure of unethical medical conduct
d.
Taking consent from the patient
Q.2.
A mother of new born baby came to OPD and described that baby is having irritability, feeding problem and abnormal movements. Biochemical analysis showed metabolic acidosis and urine analysis showed presence of ketone bodies and burn sugar smell.  
a.
What is the most probable diagnosis?
b.
Which aminoacids are likely to be increased in blood and urine?
c.
Explain defective pathway
d.
What is biochemical basis for symptoms.
 












[2+2+5+3]
Q.3.
Write short notes on:-







[5x4]


a.
Effect of temperature on enzymes activity

b.
Heteropolysaccharides

c.
21st Amino acid

d.
Essential fatty acids
Q.4.
Explain why:-








[3x5]


a.
Ethanol is used in methanol poisoning

b.
Thyroxine hormone maintains BMR

c.
Galactosemic infants present with premature cataract

d.
Fatty acid oxidation defect leads to non ketolic hypoglycemia

e.
Carcinoid syndrome leads to pellagra
Q.5.
Write short notes on:-







[6x3]

a.
Regulation of glycogen metabolism.
b.
Enzyme inhibition with special emphasis on suicidal enzyme inhibition

c.
Discuss VLDL metabolism.
Q.6.
Write short notes:-








[5x3]


a.
Metabolic alteration in starvation
b.
Biochemical function of Vitamin C.
c.
Boundaries of Doctor patient relationship
-------------------
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[1x20]

Tick the most appropriate answer:
1.
The mutation that causes xeroderma pigmentosum affects:
a.
The primase gene 


b.
Nucleotide decision repair
c.
Mismatch repair components


d.
Synthesis of DNA across the damaged region
2.
Monoclonal antibodies are synthesized using:
a.
DNA finger printing


b.
Immunoelectrophoresis
c.
Hybridoma technology

d.
Fluorescence in situ hybridization
3.
Mitochondrial DNA is inherited from:
a.
Mother only



b.
Father only
c.
Both of them



d.
Either mother or father
4.
Acute intermittent porphyria (AIP) is:
a.
Characterized by photodermatitis
b.
An autosomal dominant trait
c.
More common in men than women
d.
Hemolytic anemia is associated
5.
Compared to the pH of blood, urine normal pH is:
a.
Acidic 




b.
Alkaline
c.
Neutral




d.
The same
6.
Conjugated hyperbilirubinemia with raised alkaline phosphatase levels are characteristic of:
a.
Obstructive jaundice


b.
Hemolytic jaundice
c.
Viral hepatitis



d.
Physiological jaundice
7.
In most of the cases, hyperkalaemia results on account of the:
a.
Liver failure



b.
Pancreatic failure
c.
Renal failure



d.
Tumors in the bone
8.
Which of the following groups of proteins assist in the folding of other proteins?
a.
Proteases



b.
Proteosomes
c.
Templates



d.
Chaperones





Page 1 of 3

9.
Marasmus occurs from deficient intake of:
a.
Essential amino acids


b.
Essential fatty acids
c.
Calories



d.
Zinc
10.
One of the following is a major component of extracellular matrix:
a.
Proteins



b.
Phospholipids
c.
Cholesterol



d.
Disaccharides
11.
A 44 year old female with flushing non-healing ulcer, diarrhea and bronchospasm with increased 5HIAA levels:
a.
Glucagonoma



b.
Carcinoid
c.
Gastrinoma



d.
Insulinoma
12.
A patient with increased hypoxanthine and xanthine in blood with hypouricemia. Which enzyme is deficient?
a.
HGPRTase



b.
Xanthine oxidase
c.
Adenosine deaminase


d.
APRTase
13.
Specific dynamic action (SDA) is greatest of:
a.
Protein




b.
Carbohydrates
c.
Fat




d.
Vitamin
14.
A female child presented with growth retardation, anemia, lethargy and her urine showed elevated levels of orotic acid. Treatment given should be:

a.
Uridine



b.
Thymine
c.
Cytosine



d.
Adenosine
15.
In a man undergoing surgery, it was necessary to aspirate the contents of the upper gastrointestinal tract. After surgery, the following values were observed from an arterial blood sample: pH 7.55, Pco2 52 mmHg and HCO3- 40mmol/L. What is the underlying disorder?
a.
Metabolic acidosis


b.
Metabolic alkalosis
c.
Respiratory acidosis


d.
Respiratory alkalosis
16.
Clinical features of hyperthyroidism include:
a.
Goiter, heat intolerance, weight loss and tachycardia
b.
Goiter, tremors, tachycardia and cold intolerance
c.
Exophthalmos, goiter, tachycardia and loss of appetite
d.
Exophthalmos, goiter, tremors and obesity 
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17.
The repeat sequence of nucleotides in telomeres:

a.
TTGGGA


b.
TTAGGG
c.
GGGATT


d.
TTGAGG
18.
Which substance is not normally present in urine?
a.
Creatinine


b.
Glucose
c.
Uric acid


d.
Urobilinogen
19.
Standard urea clearance is calculated when output is:
a.
Less than 2 ml/min

b.
More than 2 ml/min
c.
2-4 ml/min


d.
More than 4 ml/min
20.
An oncogene is:
a.
Usually a cell cycle inhibitor
b.
A mutated version of a normal viral gene
c.
Activated by cancer
d.
Active in normal human cells
Q.2.
An elderly couple were found unconscious early morning by the help. It was noticed that angithi was burning and all the doors and windows were shut.
a.
What is the most probable diagnosis?
b.
What is the biochemical basis behind loss of consciousness?
c.
How is such a condition managed?
d.
Explain the cause, manifestation and management of any other condition which can lead to loss of consciousness in an elderly person.
 


   [3+4+3+2]

Q.3.
Write short notes on:-







[5x4]

a.
Alternative splicing

b.
Probes 
c.
Polymerase chain reaction

d.
Okazakin fragments
Q.4.
Explain why:-








[3x5]

a.
CD4/CD8 ratio is reduced in AIDS
b.
Blood group is done before transfusions

c.
Diet rich in folic acid is recommended in first trimester of pregnancy
d.
Vaccines are given to infants

e.
p53 is called a tumor suppressor gene
Q.5.
Write short notes on:-







[6x3]


a.
Renal function tests
b.
Extracellular matrix

c.
Kwashiorkor and marasmus
Q.6.
Write short notes:-








[5x3]


a.
Regulated expression of a gene

b.
Humoral immunity
c.
Aspect of non-verbal communication
------------------
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